Stats Warm Up 9.2 Part 2
[image: image1.png]nally do a one-sided test but then decide that a

7. Suppose that we are conducting a t-test for a population mean 4. We origi
led test might be more appropriate (typically, we use a two-sided test unless there is some reason to believe that an
n exists). Which of the following accurately describes how the results of the test will change?

effect in a particular dire:
A. The test statistic will have a larger value, but the P-value will not change.

not change, but the P-value of the test will be smaller.

B. The test sta
C. The test statistic will not change, but the P-value of the test will be larger.




[image: image2.png]10. In a test of hypotheses, the probability that a false null hypothesis is rejected is also known as the
A. probabi ing a Type II error.
B. power of the test.

cance level of the test.





[image: image3.png]11. Which of the following will cause the power of a test to increase?
A. Increasing the sample size
B. Decreasing the significance level a of the test
C. Increasing the probability of committing a Type I error.





[image: image4.png]15. We would like to test the null hypothesis Ho: 1 = 50 against Hy: p # 50. The 95% confidence interval for 4 is found to be
(51.3, 54.7). Assuming all conditions for a one-sample t procedure have been met, which of the following must be true?

A. The P-value of the test is greater than 0.05.

B. The P-value of the test is less than 0.05.

C. The P-value of the test could be either greater than or at most 0.05. It can't be determined without knowing the sample
size.





[image: image5.png]17. A kitchen stove manufacturer is testing a shipment of oven thermostats to see if they keep an oven at 350 F°. Which of the
following tests has the greatest power?

A, Hy : p = 350° versus Hy : p = 360° n = 30

B. Ho : = 350° versus Hy : y = 375% n = 20

C. Hg & = 350 versus Hy : p = 375% n = 30





